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0.50 kg 9.8 cm 

9.8 m/s2  
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(1) 0.063 (2) 0.63 (3) 6.3 (4) 63 (5) 
6.3 

×102 

 

X  

X  

X  

X  

X  

 
 

(1)  (2)  (3)  (4)  (5)  

 6.0 × 10 ! m3 

2.0 × 105 Pa 2.6 × 102 K 

6.5 × 102 K 

 

Pa  

(1) 
2.0
× 10 # 

(2) 33 (3) 
3.0
× 10$ 

(4) 
5.0
× 10% 

(5)
8.0
× 10% 

 6.0 × 10 & m 1.2

3.0 × 108
 m/s 

m/s  

(1) 
4.0
× 10 ' 

(2) 
2.5
× 10( 

(3) 
3.0
× 10( 

(4) 
3.6
× 10( 

(5)
5.0
× 10)* 
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(4) B2CDE  sin A   (5) B2CDE cos A 
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(1) −+′GCD)  (2) −+′GCD) sin A (3) −+′GCD) cos A 

(4) −+′GCD) tan A  (5) −+′GCD) sin A cos A  
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(1) +L = A (2) +L = sin A (3) +L = cos A 

(4) +L = tan A  (5) +L = sin A + cos A 
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20 m/s  0.20 kg

 10 m/s 

 

N s

(1) 2.0 (2) 4.0 (3) 6.0 (4) 8.0 (5) 10 

 6.0 mF  10 V 

 

 

 

 

 

 

J  

(1) 
3.0
× 10 ! (2) 

6.0
× 10 ! 

(3) 
3.0
× 10 " 

(4)
6.0
× 10 " 

(5) 60 

6.0 × 10 # m 1.2
 

 

 

 

 

 

 

 

m  

(1) 
5.0
× 10 # 

(2) 
7.2
× 10 # 

(3) 
1.5
× 10$ 

(4) 
1.8
× 10$ 

(5)
2.2
× 10$ 

1  1.0 V

1.6 × 10 %& C  

J

(1) 1 (2) 
4.1
× 10 %! 

(3) 
1.6
× 10 %& 

(4) 
6.6
× 10 '" 

(5) 
7.0
× 10 !% 
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3.0 × 102
 K 

3.0 mol 3.0 × 105
 Pa 

2.5 ×
10 $ m3

 4.0 × 102
 K  

 

4.0 × 102
 K

m3  

 

 

 

(1) 1.9 × 10 $ (2) 2.5 × 10 $ (3) 3.3 × 10 $  

(4) 5.0 × 10 $ (5) 5.8 × 10 $ 

 

J  

 

 

 

(1) 2.5 × 103 (2) 25 (3) 0  (4) 25 (5) 2.5 × 103 

 

  

J  

 

 

(1) 2.5 × 103 (2) 3.8 × 103 (3) 1.0 × 104 

(4) 1.7 × 104
(5) 2.6 × 104 

 

 

J  

 

 

(1) 1.3 × 103 (2) 2.1 × 103 (3) 2.5 × 103 

(4) 6.3 × 103
(5) 9.0 × 103 

 

 

J/(mol∙K)  

 

 

(1) 3.0 (2) 11 (3) 21  (4) 25 (5) 33 

 

 

J/(mol∙K)  

 

 
(1) 13 (2) 25 (3) 29  (4) 37 (5) 83 
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1.00 m/s

6.50 × 102
Hz

3.40 × 102
m/s 

Hz

(1) 6.48 × 102
(2) 6.49 × 102

(3) 6.50 × 102
  

(4) 6.51 × 102
(5) 6.52 × 102

5.00 m/s

Hz

(1) 6.39 × 102
(2) 6.40 × 102

(3) 6.55 × 102
  

(4) 6.60 × 102
(5) 6.61 × 102

1.00m/s



¾  ¾ ¾  ¾ 

 

(a) (e)

  3.0 kg  1.5 m 

1 40  

N

(a) 25 (b) 29 (c) 53 (d) 79 (e) 3.0×10
2
 

 +2.0 × 10 ! C A 2.0 × 10 ! C B 3.0 m 

A, B 3.0 m P

9.0 × 10
9 N m2/C2

 

V/m  

(a) 0 (b) 
2.0

× 10" 
(c) 

4.0

× 10" 
(d) 

6.0

× 10" 
(e)

8.0

× 10" 

  5.2 × 10 # m3 

2.0 × 10
5 Pa 2.6 × 10

2 K 

6.5 × 10
2 K 

 

 

 

 

 

 

 

J  

(a) 
1.6

× 10$ 
(b) 

2.3

× 10$ 
(c) 

3.2

× 10$ 
(d) 

3.9

× 10$ 
(e)

4.6

× 10$ 

 x  t s  x m  

y m  

% = 10 sin( 5.0& − 0.25)) 

 

 

 

 

 

m/s  

(a) 2.5 (b) 5.0 (c) 10 (d) 20 (e) 25 

P

A B

3.0 m
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 4.0 × 10 +, J  3.0 × 10 - m 

3.0 × 10
8 m/s  6.6 × 10 "$ J∙s  

 

1  
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